

۱۸,۷۵

نام و نام خانوادگی سیاضی پاسخنامه تشریحی تکلیف شماره ۱۵ کلاس بازدهی و خلاقیت ۱۳۰۰

۱) الف) $\left| \frac{x}{y} \right| = \frac{5}{-2}$ و $\left| \frac{y}{x} \right| = \frac{2}{-5}$
 $m = \frac{-2}{-5} = \frac{2}{5}$
 $y - y_1 = m(x - x_1)$
 $y - 2 = \frac{2}{5}(x - 5)$
 $y - 2 = \frac{2}{5}x - 2$
 $y = \frac{2}{5}x$
 $y = -\frac{5}{2}x + 10$

ب) $\left| \frac{x}{y} \right| = \frac{5}{-2}$ و $\left| \frac{y}{x} \right| = \frac{2}{-5}$
 $m = \frac{-5}{-2} = \frac{5}{2}$
 $y - 2 = \frac{5}{2}(x - 5)$
 $y - 2 = \frac{5}{2}x - \frac{25}{2}$
 $y = \frac{5}{2}x - \frac{21}{2}$
 $y = -\frac{2}{5}x + 10$

ج) $2x + 3y = 1$ و $3x + 2y = 1$
 $3y = 1 - 2x$
 $y = -\frac{2}{3}x + \frac{1}{3}$
 $y - 2 = -\frac{2}{3}(x - 5)$
 $y - 2 = -\frac{2}{3}x + \frac{10}{3}$
 $y = -\frac{2}{3}x + \frac{16}{3}$
 $y = \frac{2}{3}x - \frac{1}{3}$
 $y = \sqrt{3}x - 5\sqrt{3} + 10$

۲) الف) $M \left| \frac{x}{y} \right| = \frac{1}{\sqrt{2}}$ و $N \left| \frac{y}{x} \right| = \frac{1}{\sqrt{2}}$
 $MN = \sqrt{(-1-2)^2 + (7-3)^2} = \sqrt{(-3)^2 + 4^2} = \sqrt{9+16} = 5$
 $d = \frac{|3(2) + 4(3) - 13|}{\sqrt{3^2 + 4^2}} = \frac{|11|}{5} = \frac{11}{5}$
 $d = \frac{|5|}{5} = 1$

۳) الف) $5x + 4y = 1$ و $(2x + 3y = 4)^{1/2}$
 $5x + 4y = 1$
 $5x + 4y = \frac{1+1}{2} = 1$
 $d = \frac{|11-1|}{\sqrt{5^2 + 4^2}} = \frac{10}{\sqrt{41}} = \frac{10}{\sqrt{41}}$

۴) $3x - 2y = 1$ و $2x + 3y = 3$
 $3(2x - 2y - 1) = -(2x + 3y - 3) \Rightarrow 6x - 6y - 3 = -2x - 3y + 3 \Rightarrow 8x - 3y = 6$
 $\frac{|2x + 3y - 3|}{\sqrt{2^2 + 3^2}} = \frac{|3x - 2y - 1|}{\sqrt{3^2 + 2^2}} \Rightarrow \frac{|2x + 3y - 3|}{\sqrt{13}} = \frac{|3x - 2y - 1|}{\sqrt{13}}$
 $|2x + 3y - 3| = |3x - 2y - 1| \Rightarrow 1) 2x + 3y - 3 = -(3x - 2y - 1) \Rightarrow 5x + y = 4$

۵) $y = 2x = 5$ و $y + 3x = 3$
 $m_y = \frac{-(-2)}{1} = 2$ و $m'_y = \frac{-3}{1} = -3$
 $\tan \alpha = \frac{|2 - (-3)|}{|1 + (-6)|} = \frac{5}{5} = 1$
 $\tan \alpha = 1$
 $\beta = 180^\circ - \alpha = 135^\circ$

$$\text{الف) } A \begin{vmatrix} 3 \\ -2 \end{vmatrix} B \begin{vmatrix} -\omega \\ \kappa \end{vmatrix}$$

$$AB = \sqrt{(-\omega - 2)^2 + (\kappa - (-2))^2} = \sqrt{(-1)^2 + (4)^2}$$

$$\sqrt{4\kappa + 14} = \sqrt{100} = 10$$

$$\text{ب) } A \begin{vmatrix} 3 \\ -2 \end{vmatrix} B \begin{vmatrix} -\omega \\ \kappa \end{vmatrix}$$

$$A \begin{vmatrix} 3 \\ -2 \end{vmatrix} M \begin{vmatrix} 3 \\ -\omega \end{vmatrix} B \begin{vmatrix} -\omega \\ \kappa \end{vmatrix}$$

$$M \begin{vmatrix} \frac{3-\omega}{2} \\ \frac{-2+\kappa}{2} \end{vmatrix} \Rightarrow M \begin{vmatrix} -1 \\ 1 \end{vmatrix}$$

5

$$\text{ج) } \begin{vmatrix} -10 & 2 & 3 \\ -13 & 2 & 1 \end{vmatrix} \begin{vmatrix} -2 \\ 3 \\ 1 \end{vmatrix} \text{! ملاحظة:}$$

$$\frac{1}{2} \begin{vmatrix} 3 & 1 & 1 \\ -2 & 3 & 1 \\ -10 & -13 & 1 \end{vmatrix} = \frac{1}{2} (14) = 7$$

$$7 + (-10) + 2 \cdot 3 - [(-2) \cdot (-13) - (-10) \cdot 1] = 7 - 11 = -4 = \frac{1}{2} \begin{vmatrix} -2 & 3 & 1 \\ -10 & -13 & 1 \end{vmatrix} = F_A$$

$$\text{الف) } \begin{vmatrix} -10 & 2 & 3 \\ -13 & 2 & 1 \end{vmatrix} \begin{vmatrix} -2 \\ 3 \\ 1 \end{vmatrix}$$

$$X_G = \frac{-10 - 2 + 3}{2} = \frac{-9}{2} = -4.5$$

$$Y_G = \frac{-13 + 2 + 1}{2} = \frac{-10}{2} = -5$$

1.6

$$\text{الف) } y = \frac{2x+1}{5x-3} \xrightarrow{\text{قرب نسبي}} -y = \frac{2x+1}{5x-3}$$

$$\text{ب) } y = \frac{2x+1}{5x-3} \xrightarrow{\text{قرب نسبي}} y = \frac{2x+1}{-5x-3}$$

$$\text{ج) } y = \frac{2x+1}{5x-3} \xrightarrow{\text{قرب نسبي}} x = \frac{2y+1}{5y-3} \rightarrow y = \frac{2x+1}{5x-3} \rightarrow y = \frac{2x+1}{-5x-3}$$

$$\text{ب) } y = \frac{2x+1}{5x-3} \xrightarrow{\text{قرب نسبي}} -x = \frac{2y+1}{-5y-3}$$

$$\rightarrow y = \frac{5x+1}{2x-3} \quad y = -\frac{2x-1}{5x+3}$$

1.8

$$\text{الف) } y = \frac{2x+1}{5x-3} \quad \begin{vmatrix} 2 \\ -3 \end{vmatrix}$$

$$\begin{cases} x' = x - 2 \\ y' = y + 3 \end{cases} \rightarrow \begin{cases} x = x' + 2 \\ y = y' - 3 \end{cases}$$

$$y' - 3 = \frac{2(x' + 2) + 1}{5(x' + 2) - 3} \rightarrow y' = \frac{2x' + 4 + 1}{5x' + 10 - 3} + 3 = \frac{2x' + 5}{5x' + 7} + 3$$

$$\text{ب) } y = \frac{2x+1}{5x-3} \quad \begin{vmatrix} 2 \\ 3 \end{vmatrix}$$

$$\begin{cases} x' = x - 3 \\ y' = y - 2 \end{cases} \rightarrow \begin{cases} x = x' + 3 \\ y = y' + 2 \end{cases}$$

$$y' + 2 = \frac{2(x' + 3) + 1}{5(x' + 3) - 3} \Rightarrow y' = \frac{2x' + 6 + 1}{5x' + 15 - 3} - 2 = \frac{2x' + 7}{5x' + 12} - 2$$

5

$$\text{الف) } \begin{cases} 3x + 5y = 2 \\ x - 3 = 0 \\ (2 - 5y = 1) \\ + 10y = -2 \end{cases}$$

$$y = -\frac{1}{19} \quad 3x = 2 + \frac{5}{19} = \frac{59}{19} \Rightarrow x = \frac{59}{57}$$

$$\text{ب) } \begin{cases} 3x + 5y = 2 \\ x - 5y = 1 \\ \begin{vmatrix} 3 & 5 \\ 1 & -5 \end{vmatrix} \end{cases}$$

$$x = -\frac{5 - (-10)}{-15 - 5} = \frac{15}{19}$$

$$y = \frac{\begin{vmatrix} 3 & 2 \\ 1 & 1 \end{vmatrix}}{\begin{vmatrix} 3 & 5 \\ 1 & -5 \end{vmatrix}} = \frac{3 - 2}{-15 - 5} = -\frac{1}{19}$$

5